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Relative pt residuals VS ptmc
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* 2D plot: ( ptreco- ptmc ) / Prme VS prme

* 10 bins of ptmc (irregular binning), projection Y, gaussian fit of the distribution

e 3 types of tracks: all tracks, tracks with only CDC hits, tracks with VXD+CDC
hits
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first 2 bins ignored (ptvmc < 100 MeV
# 1 bin = single gaussian fit

# 3 bins = double gaussian fit

# 4 bins — triple gaussian fit



all tracks

* O: square root of the weighted sum of the fitted variances
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CDC hits only
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first 2 bins ignored (ptvmc < 100 MeV
# 2 bins = single gaussian fit

# 6 bins = double gaussian fit

# 0 bins — triple gaussian fit
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# 1 bin = single gaussian fit
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Track types comparison

o —e— all tracks
§§ SRR : : : —#— CDC hits only

101% — 4 VXD + CDC hits

t,MC
e

Apt/p

10°0

10°0 0

l | | 1 | L1 1 | L1 1 | L1 1 | oo e o by |
0 0.5 1 1.5 2 2.5 3 3.5
pt,MC

e pbetter resolution for tracks with VXD+CDC hits
* Exception: 1.5 GeV < pt,MC < 2.0 GeV

Difference: #of gaussians used for the fit
/



Features of the distributions
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e asymmetry in the residual distribution
 more enhanced in the central p: region ( 0.3 GeV < pt < 1.5

GeV)
* less evident when considering tracks with CDC hits only
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